
1414  Bumper  Caddy

Auto Body Toolmart
Champ Frame Straightening Equipment, Inc.

760 Indust r ia l  Dr ive ~ Uni t  D ~ Car y,  IL . 60013  (800)  382-1200



• 1 - Support Base
• 2 - Wheels
• 2 - Push Cap Wheel Retainers
• 1 - Support Stand
• 1 - Support Stand Extension
• 2 - Arm Holders
• 1 - 3/8” x 2 1/2” Bolt
• 1 - 3/8” Flat Washer
• 1 - 3/8” Lock Washer
• 1 - 3/8” Nut
• 7 - Tension Knobs
• 2 - Bumper Support Arms
• 2 - Bumper Support Arms with 24” Chain

Pa r t s  L i s t



• Lay support base flat on ground

• Attach support stand to support base
using 38” x 2 1/2” bolt with flat washer.
Attach lock washer and nut and tighten
support stand to support base.

• Insert support stand extension into
support stand. Screw in tension knob 
on support stand. This allows for height
adjustment.

• Insert arm holders into support stand
and screw in tension knobs

I n s t r u c t i o n s

1.
2.

3.

4.



• Insert bumper support arms into arm
holders. Screw in tension knobs

• Attach wheels to base using push cap
wheel retainers. Gently tap them on
using a rubber mallet

The bumper caddy is fully adjustable to
hold bumpers in different positions

5.

6.


